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Questions

Gamets are formed is.

Potato is

The plant to which scion is attached.

Cut piece of the plant is called.

Segarcane is grows using the technique.

Sperm and eggs fuse to form.

Which is the following male reproductive part of a flower.

Male reproductive cell

Fusion of a sperm with two polar nuclei forms.

Production of new plant from endergrond stem is an example of.

Answers Choice

A. Sexual reproduction
B. Aseual reproduction
C. Cutting
D. Grafting

. Tuber
. runner
. Layer
. Bulb

. Runner
. Layear
. Bud

. Stock

. Bud

. Scion

. Stock

. Rhizom

. Leyeing
. Cutting

. Budding
. Grafting

. Embryo
. Zygote
. Seed

. Carpels
. Eggs

. Sperm

. Stamens

. Egg
. Sperm

. Neuron
. Zaygote

. Zygote

. Endosperm
. Embryo

. Oveum

. Sexual reproduction
. aseual reproduction
C. Self pollination
D. Cross pollination
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